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DEGREE EXAMINATIONS
COMMERCE - BUSINESS STATISTICS

(From The Admitted Batch of 2015-16)
(COMMON FOR B.COM (GENERAL), B.COM (VOCATIONAL))

Time : 3 Hours Maximum : 75 Marks

SECTION - A
$uÛ≤>∑+ ` m$uÛ≤>∑+ ` m$uÛ≤>∑+ ` m$uÛ≤>∑+ ` m$uÛ≤>∑+ ` m

Answer any FIVE questions. (5×5=25)
á ÅøÏ+~ @y˚ì ◊<äT ◊<äT ◊<äT ◊<äT ◊<äT Å|üX¯ï\≈£î düe÷<ÛëHê\T Åyêj·TTeTT.

1. Importance of statistics.
>∑D≤+ø£XÊg+  ÅbÕ<Ûëq´‘·.

2. Kinds of averages.
dü>∑≥T s¡ø±\T.

3. Uses and limitations of range.
yê´|æÔ jÓTTø£ÿ Å|üjÓ÷»Hê\T eT]j·TT |ü]$T‘·T\T.

4. Probable error.

dü+U≤uÛ≤e´‘ê <√wü+.
5. Fixed base index number.

dæús¡ Ä<Ûës¡ dü÷N dü+K´.
6. Bowley’s co-efficient of skewness.

uÖ© nkÂwüºe >∑TDø£+.
7. Types of Diagrams.

∫Å‘· |ü{≤\ s¡ø±\T.
8. Family budgets method.

≈£î≥T+ã ã&Ó®{Ÿ $<Ûëq+.

[P.T.O.
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SECTION - B
$uÛ≤>∑+ ` _$uÛ≤>∑+ ` _$uÛ≤>∑+ ` _$uÛ≤>∑+ ` _$uÛ≤>∑+ ` _

Answer ALL questions. (5×10=50)
nìïnìïnìïnìïnìï Å|üX¯ï\≈£î »yêãT\T sêj·T+&ç.

9. a) Define statistics? Explain the characteristics of statistics.
>∑D≤+ø£XÊg+ ìs¡«∫+|ü⁄eTT? >∑D≤+ø£XÊg+ jÓTTø£ÿ \ø£åD≤\qT $e]+#·+&ç.

(OR/˝Ò<ë˝Ò<ë˝Ò<ë˝Ò<ë˝Ò<ë)
b) What do you mean by Data collection? Briefly describe the various methods of

collecting primary data.
<ä‘êÔ+X¯ ùdø£s¡D nq>±H˚$T? ÅbÕ<∏ä$Tø£ <ä‘êÔ+X¯eTTqT ùdø£]+#·T≥≈£î >±qT $$<Ûä |ü<ä∆‘·T\qT
>∑÷]Ã ≈£î¢|üÔ+>± $e]+#·+&ç.

10. a) Calculate Median and Mode from the following data :
~>∑Te <ä‘êÔ+X¯eTTq≈£î eT<Ûä́ >∑‘·+ eT]j·TT u≤VüQfi¯ø£+qT …̋øÏÿ+#·+&ç.
C.I : 4-7 8-11 12-15 16-19 20-23 24-27 28-31 32-35

‘·s¡>∑‹ n+‘·s¡+ :
f : 4 11 25 47 56 29 20 8

bÂq'|ü⁄q´+.
(OR/˝Ò<ë˝Ò<ë˝Ò<ë˝Ò<ë˝Ò<ë)

b) Find  Q1, Q3, P44 and D9 for the following series.
~>∑Te <ä‘êÔ+X¯eTTq≈£î ~>∑Te #·‘·Tsêú+X¯+, m>∑Te #·‘·Tsêú+X¯+, 44 e X¯‘ê+X¯eTT eT]j·TT
9e <äXÊ+X¯eTTqT ø£qT>=q+&ç.
C.I : 0-10 10-20 20-30 30-40 40-50 50-60 60-70
f : 4 13 27 87 51 47 14

11. a) Calculate standard Deviation from the following data.
~>∑e <ä‘êÔ+X¯eTTq≈£î ÅbÕe÷DÏø£ $#·\q+ >∑DÏ+#·+&ç.
X : 0-10 10-20 20-30 30-40 40-50 50-60 60-70
f : 6 14 10 8 1 3 8

(OR/˝Ò<ë˝Ò<ë˝Ò<ë˝Ò<ë˝Ò<ë)
b) Calculate Karl Pearson’s co-efficient of skewness from the following data.

~>∑Te <ä‘êÔ+X¯eTT qT+∫ ø±s¡¢|æj·Ts¡‡Hé yÓ’wüeT´ >∑TDø£+qT …̋øÏÿ+#·+&ç.
Marks : 40-50 50-60 60-70 70-80 80-90 90-100
e÷s¡Tÿ\T :
No. of students : 5 12 20 16 5 2
$<ë´s¡Tú\ dü+K´ :
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12. a) Find the Rank correlation co-efficient from the following data.
~>∑Te ˙j·Tã&çq <ä‘êÔ+X¯eTTq≈£î ø√{° düVü≤dü+ã+<ÛäeTTqT >∑Dq #˚j·T+&ç.
Marks in Econonics : 88 90 95 70 60 75 50
ns¡úXÊg+˝À e÷s¡Tÿ\T :
Marks in Statistics : 120 134 150 115 110 140 100
>∑D≤+ø£XÊg+˝À e÷s¡Tÿ\T :

(OR/˝Ò<ë˝Ò<ë˝Ò<ë˝Ò<ë˝Ò<ë)
b) Determine the equations of regression analysis.

Å|ü‹>∑eTq $X‚¢wüD düMTø£s¡D≤\qT ìsêú]+#·+&ç.

X : 5 8 15 20 22 27 30

Y : 6 7 13 19 21 27 29
13. a) Fit a Straight line trend equation by the method of least square.

ø£ìwüº esêZ\ |ü<ä∆‹˝À düs¡fi≤πsU≤ Å|üeè‹Ôì dü+<Ûëq+ #˚j·T+&ç.
Year : 2016 2017 2018 2019 2020 2021 2022
(dü+e‘·‡s¡+)
Profit : 70 80 100 90 120 140 110
(˝≤uÛÑ+)

(OR/˝Ò<ë˝Ò<ë˝Ò<ë˝Ò<ë˝Ò<ë)
b) From the following data construct fisher’s Ideal index number and show that it satistics

factor Reversal test and time reversal test.
~>∑Te <ä‘êÔ+X¯eTT qT+∫ |òæwüsY Ä<äs¡Ù dü÷Nì ‘·j·÷s¡T#˚dæ, n~ ø±s¡ø±\ |ü]es¡Ôq eT]j·TT
ø±\ |ü]es¡Ôq |üØø£å\qT ì\ã&ÉT‘·T+<äì ãTTEe⁄ #˚j·T+&ç.
Community 2020 2021
edüTÔe⁄\T Price Quantity Price Quantity

<Ûäs¡ |ü]e÷D+ <Ûäs¡ |ü]e÷D+
A 5 50 7 60
B 6 15 8 10
C 8 8 11 12
D 7 20 10 15

_______________
_


